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suppose g ulitly com sm vy can 5811 200,000 kwh of electrivity when the
price 18 5 cents per | w s (ki m%?%:w?w‘% For every one cent increase in
rice, demand drops by ?qﬁﬁé b, What price will maximize tota)

Suppose thet the vield ﬁf z forest is estimated to be 400 board-Test of
lumiber per w@ex ;ﬁf ity trees ave gfﬁa nied per aore. For every tree
planted in wm:ﬁﬁ of that é‘m;f* acre), the yield is reduced by 7 board-Teet
per lreg. HMow many troes should be plented per acre to maximize the
{otal armount M“ lumber?



